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- o Complete the calculations.
) 1

Multiply fractions by integers e

a 3% 1= 'é_ b) %x 1= %
1 2 3 L
—x 2= —x 2=
o Complete the calculations. 3 3 4 ] g
a) %xB: | —x3=2l
2 4
—x2=|"= 1 3
7 _'E E x4 = 1 3 E % 4 = 3
1 1 3 3
b) §*5=]3 Ex5=5ﬁ
L B m m e ms s
1 _ 3 _|l L
0 1 E x 6= j. n x b= L_] 1]
33 |t
07| 1o What patterns do you notice? @
o Complete the multiplication.
o a) Shade the bar models to show % x 4 @
! 2 |
2£x3=| /=
(A ’ ]
A2 EEEEEEEEEEEEE
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I//// //;} f{/////(‘/) I I | | I I ; I I 1 | |
b) Complete the multiplication.
3 21_173 What method did you use? Is there a different method you could @
Ex":%‘_ - i_g have used?




o Match the calculations.

2 2
3% 3

a) 1%!2:

mz%x3=

c) 2%!4:

ﬂZ%xE:

1
e) 7x3—=
) 7 x >

=
|
o=
®
=~
n

1
L x4
3!

o Write each answer as a mixed number in its simplest form.

Fill in the missing numbers.

[;113=6% m2[;]x3=?5

a) 2

Tommy's dog eats 3 ;—ﬁns of food a week.

How many tins does she eat in a year?

Jack builds a tower using grey blocks.
Alex builds a tower using red blocks.
The towers are exactly the same height.

How many blocks could they each have used?
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. : : 1.2 4] | 1 1
Multiply fractions by fractions D233 3 2
1 7
3
o Dexter works out% ® % using a grid method. ] 7
T
1 1
2 2
1
1 3
3
1
3
e a) Divide the square to show that 2,3 equal to 6 Z’
1 a3 4 12 el
1 > ) 3
3 1
A
L /% [// —
i i 1.1 1
Explain how this shows - x = = < b / /Z
o » /A
Spuk  (nm halues vertcalin_ond tuirdn 4 7 /777
) | - . D T
N . 6 o V2 L -'q
Sreadad . k
o Shade the diagrams to show the fraction multiplications. 2 3. 1
b) Mo says = x = is equal to —
Complete the multiplications. 3 4 2
1.1 1 1 1
a) 2*7=| % > > Is Mo correct? 125
% Explain your answer.
6 s equivalonk \© :;—
(2
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o Complete the calculations. o Calculate the area of the shapes.

-, a) 4 b)
a}lxl= T E}ixl= --E Em
4 5 |6 4 5 |
1.1 L 2. 5 !
—x—=| - — == 2 9
b) 5 %= % Dsxs=2 Im Tom
Lo 5 5_|1=
V=738 97xg=|5
111 _|[ L 3.2 3 _| -
ek Rk Tl EE h §*5*16 = |Lo
8 Al
Area=| T2 m? Ared = 100 m?
o Use the diagram to complete the calculations.
a) %of%: ?]/1 *f;i;; {% % o Work out the area of the shaded part. O
_\rJ —
3
2 3 AN TACAV AR AW AVAY) 7m
v Sotl=|\ 2| 9D D% %%\ % ¢ »

[— —"_‘\f‘_k_'_'_J ™

¢) What do you notice about your answers?

Talk to your partner.

©

o Fill in the missing numbers.

a}1—-%x 1 b)

10~

Ly
L3
[

L.

o Fill in the missing numbers.

a}1—=@x b) II'
10 4 5 4
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ethe . 4 .
DiVidE fl'ﬂCtiOl"lS bl_.l integers (2) d) Draw a diagram to help you work out the answertog 3 \2‘/-/
Wz |
ZZatZANE |
| . l 1 [} \I 1
Y ooao oY
S - 3= 73
\, A

o Complete the divisions using the diagrams to help you.

a) L:2= X . | f
RS A i | :
a) Write two things that are the same about the calculations. . -
1 ke — w-l-' II I| I :r
e0. Thosy, are bota dms\,m-a b) 3+3= 9 1o v o
TMj oo conbain ":::
2 2 1 ) T 7
) 3 3= 1 i v { |
ql i L L} X L 1
b) Write one thing that is different about the calculations.
Winalk  HBap Qr&fi.hm S ‘D:L,r‘\oj dunided '\r)\j o %of a kilogram of rice is divided equally between two bowls.

¢) Draw a diagram to help you work out the answer to 5 +2 @ .
~
Al f’/// M ) TS

How much rice is in each bowl?

Y . _2;
6-9“5




o Work out the divisions.

a]%a.-?: f) =%+12
b) =%+3 g) %+?=
c}%+9= h) =%.

d) =%+a 1) ﬁ+25=
e)%a.-?: ) =%+20

o Write <, > or = to complete each statement.

1 1
u]3.5 = 3
1 1
b) —+3 —=5
3 3
) ==+5 —+3

}5 5

o There are some cones in the PE shed.
Classes 1, 2 and 3 share them equally.

* Class 1 put theirs into 4 equal piles.

# Class 2 put theirs into 5 equal piles.

# Class 3 put theirs into 11 equal piles.

What fraction of the whole number of cones is in each pile?

Fraction in each pile

Class 1

Class 2

Class 3

° a) Which of these statements are true? Tick your answers.

b | =

% + 2 js equal to

[4

b=
F
w
1]
B | =
W=

1 1 1.1
*2 2'4_2’:4
?'5_2’:5

b) What do you notice?

Is it only true for halves?

Does it work for non-unit fractions?

Talk to a partner.
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Fractions of an amount - o Calculate the missing values.

200
a) | R
LO | Lo | Lo | uwo | WO | 3 5000=] 20
5
. | J
120
. )
U
W
1 140 litres
1
a) Shudegof the bar model. @ b) ~
1 10 (0| 10| 10|10 | 19| o %ofmolitres: Lot
b) What |s?of20? L, L._'_J

Lo

o Use your times tables knowledge to solve the calculations.

1 - 1 =
a) 30f12_ Y d) mofBlJcm- g om
4
b) Tof£20=| L5 e ofeo=| o Of £1.800 =1 (500
1 _ 1 -
Q ?of35m- Frm f) ?ofmkg_ 115

Now use your answers to solve these calculations.

a) Zof12=| 3 d) Lofsoem=| 56, d) N

90( 90( 20| 90| 90| 90| T0|90|90|q0| 90 %of‘ago: 230

h)%of£20= EIS e) ;zof60=| 55

210

c) %of35m= Alm f) %of&dkg: ?25

&



o a) In a school of 480 pupils, % are juniors.

How many juniors are in the school?

320
b) A factory makes 256 cars.
% are electric cars.
How many electric cars does the factory make?
96
c) Brett uses% of his £180 savings to buy a train ticket.
How much of his savings does he have left?
[}

T Rt

Alex hos 288 m of fence to paint.
She paints % of the whole fence on Monday. She then paints % of
what is left on Tuesday.

How much fence does she have left to paint?

[08m

©

Fill in the missing numbers.

TR

of $500 = $150 c) 42 = =—— of 700

b) =;—of 100 kg = 75 kg d) 450 = === of 3,000
Find the values of @ and b. O
b
480
|
s )
_
—b
J -
a
a=|86"4 b=| 9 ]
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Area of rectangles

a)
o On the grid, the area of each square is 1 cm?
Calculate the area of each rectangle.
1ecm 1cm
— —
a) 15 o 16
| em? |0em?
1em
“—
b) 1 g b)
S om®

@&

o Complete the sentences to describe the rectangle.

There are| 2 |rows.

Each row has| [, |squaores.

There are| % |squares altogether.

:2_’.‘]'_,;:8

o The area of each square is 1 cm?
Work out the area of each rectangle.

3 w| 7 21
area = jlcmgL
5 |x| 2 |=| 10
area=| |Oom

area=| |Sor "
d)
? 3 | = P
area=| o 1
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o Calculate the area of the rectangles. o These shapes all have the same area. Shape A is a square.
Work out the missing lengths.

5cm
4 cm

o Work out the area of these rectangles.

a) b)
R
12 mm [? m o A rectangle has an area of 96 cm?

The length of the rectangle is 4 cm longer than the width.

L3 mm?® 210m* Work out the length and width of the rectangle.

How many rectangles can you draw that have an area of 24 cm??
Label the lengths. Your drawings do not hove to be exact.

X

s Lliem 6 !
l%l:m: e length =| [Jem width = | &cm
o)
Sem
o |
\_ »

Compare your answers with a partner.

O
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Equivulent fractions - o a) Sort the fractions into the groups.

1 1

Equivalent to 2 Equivalent to 3

o sShade the shapes to show the equivalent fractions.

ﬂ]% %
b)
VAIAZZ S |(2||3 |6 (|8 ||s5||la|l|lz2
V% 3 5|6 ||72||2a||2a||20||72||8
% % % 4 2 b) Write one more fraction in each group.
" /
2
% % %= ° Complete the equivalent fractions.
0}1—=E| d]i= 6 g) 2 =E
d) 7- 14 4 1>
e —
% Z%Z%Z h}§= g) 312 h —2__10

o Draw two rectangles to show that % =7

0 L= 3.
) . 8 4- 12

i

5l
N

L

| ) Describe the pattern in part g, h) and i) to a partner.

INRE
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@ o Here are some equivalent fractions.

o Find three ways to make the fractions equivalent.
Find the values of A, B and C.

Eﬂ.
1 7 by 7 .14 o9 [1] [7]

a)
14
A 3 2 C
5 < X

B 18 a0

- ] 7 - 14
1 __7 7 __14 Y L3
= A=l | B=| 27 c=| 10

1
o Here are three fraction cards.

° Ron is finding equivalent fractions to ry
All the fractions are equivalent.

1. i 5
is equivalent to 3
B 12

q
and 3
A 14 C

4

Do you agree with Ron? _HO
@ A+B=13

Draw a diagram to support your answer.
Work out the value of C.

C =24

N
BF

s
S|

SN

%
%

|

SES
[
(a}
1] o
’
L8]

® 2

I 5
I 3

Find the value of @

Compare answers with a partner. @
®-=
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Im proper to mixed numbers - o Shaode the bar models to represent each improper fraction.

Convert the improper fractions to mixed numbers.

VA7
o Convert the improper fractions to mixed numbers. Q % % %’ 37 Qé
a) %
212
- AL
'“’ W\OH 4| 3| 2%
(2] g2 w7,
> S
VA7
? YN Y 2| 2+
=2} 7
WAV
) ~ AV AVAV I S PR
g AUV




ﬂ]m= 5

g
—
|3

n
Lo
L |—

o
a3
1
Lo
|-

Eva has 7 bottles of juice.

12
a) —=
) 5

Each bottle contains half a litre of juice.

o Convert the improper fractions to mixed numbers.

2

2

4o

(%)
ol

How many litres of juice does Eva have altogether?

Write your answer as a mixed number.

L=

o Dexter is converting improper fractions.

Explain why Dexter is incorrect.

o Find the value of ()

ol

é
Olw

o Find two possible values for * and ‘.

30 a 2
x Ax
A= 2
A-[ L




Mixed numbers to improper fractions

o Convert the mixed numbers to improper fractions.

@b 4D A
@I

'Y L3

3_
1=

4
_[@]

(1]

White

o Convert the mixed numbers to improper fractions.

Colour the bar models to help you.

a)

b)

)

d)

v/

Vi

N D
D

A

A

(/4
7%

©x
%

NN NN YR

NIARA
VAR

3
»

N\
)

N Ay Ry AR

=
I

| =
1}

Lol 4

| =
1}

Wiz




o Convert the mixed numbers to improper fractions.

Write the next conversion in each part.

a) 2%: %
2§- -

Qi L

7 7
ST
o

5%= -

6% |=|%

<)

5;—: ]:;
5;—: %
St |-

Talk to a partner about any patterns you spot.

o Here are 4 whole pizzas and %of a pizza.

SO0

How many children can have

1
5

of a pizza?

Lﬂ.

©

o Whitney is converting mixed numbers to improper fractions.

) AR

Do you agree with Whitney? 0

Explain your answer.

- 1%
arae han  corwetked L whsen ko B bux

L{;Tﬂbt"-\’_f‘- o odd Hre exhvo  Seaendina,

03-4

The table shows some possible values of the circle.

Use this to find the corresponding value of the triangle.

o A
1 g
2 13
4 23
8 3
16 %3
|7 88
160 803
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Rase
Compare and order fractions less than 1 i €@ write <. > or = to compare the fractions
1 4 2 1
Vs @ 15 P @ 3
b) 2 4 h) 4 1
o Write <, = or = to compare the fractions. 5 15 9 3
Use the bar models to help you. 2;/
i & 9 2 6 ) 4 1
5 15 12 3
A A A A A . L
A A2, o i
2 6 8 3
3 @ 2 kT 3
7 3
: ()
2 6 8 3
f 3 @ 9 h 12 4

W m o sort the fractions into the circles.
YV i 1 1

greater than % equal to 3 less than 3

un




o What could the missing numerators and denominators be?

Write a number in each box to make the statements correct.

I S o .5 g6 S
5 15 3 6 9

h}ci e 3 .5 hy 19 _5
3 12 5 12

c) c% ﬂ%c I]E-a: >

Compare answers with a partner.

o Tommy and Eva are comparing fractions.

2|8
3

o
o

I found a common
denominator of 36 to
compare the fractions.

I found a common
numerator of 4 to

N

e

compare the fractions.

Whose method is more efficient? oo

Talk about your answer with a partner.

»)

C O

@)

o Write the fractions in ascending order.

2 2 2 2 2
D% 73 3 10
2 2 2 2
[ 5 Li
2 515 2
359 e
1 2 S 2
9 9 q 3
3 7 1 3 1
) = — —
) 5. 70 2 10 5
| 2 ] 3
z o 2 G
)36 1221
8 17 30" 7+ 3
2 — & 3
3 3 7 K

What could the missing numerator be?

3. <2
5 15 "0

Write all four possibilities.

[ 1] 12

15 15 1

I

i

L3 | %

oy

olu

LAd | =
'm

!

i
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One possible approach...
Ratio of 3 : 2 for lacquer and hardener.

Investigate how many litres of each he
would need to spray ? number of cars.

Ratio 2 : 1 Lacquer Hardener
Lacquer Hardener Lacquer 2| . ]
S 2l Hardener Total of 72 litres

600ml 300mi 21:1l agl : 24l
800ml 400ml

efc. How can the pattern be Total of 72 litres Stuart uses half of his lacquer = 24l

used fo predict how many 48 : 24 Stuart will have 12! of
combinations there are in total?

Lacquer Hardener Stuart is correct.
2l ]

198l of lacquer and hardener.
Total of 72 litres

48| 24| Each car takes 3| for each coat.

Stuart uses half of his lacquer = 24| 198l = 6 = more than enough for 30 cars.
Stuart will have 12| of hardener left.
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Answers to ‘Robert the Bruce’

Inference Focus

1. Cold and lonely. He wraps the blanket around him and is grumpy about the fire
2. Keeping track of the days

3. Proud and reminiscent - there’s a sparkling tear in his eye

4. He is fascinated by it - it's his only company

VIPERS questions

V: You know/understand

V: Didn’t/don’t

E: He used its perseverance as inspiration
R: Six

S: Don’t give in - keep trying

Answers to ‘Worst Jobs for Kids’

Summary Focus

1. Go to school

2. Their small size and tiny hands

3. They were all dangerous

4. The rise of the steam train

5. Any suitable order so long as appropriate reasons are given

VIPERS questions

V: Din

I: There was a lot of opportunity in London

I: Feels sorry for them. The use of language, such as luckless or cursed.
R: Dog poo

P: Any suitable prediction with reasons.




